EHiRE o T E AR

Turning and Milling Machine Driven Tooling System

VDI /] g VDIE) 71 ] &

VDI Tooling VDI Driven Tooling

BMT&) 77 )] &

BMT Driven Tooling



B 18 S 1

Turning and Milling Machine(DIN 69880 %5l )

KA )73 1E]

Insert Toolholder into Turret Direction

AN

(axial),(axial turret)

\
\ s
o ' N\ \ / o
KA J] : ‘ i -
(radial),(radial turret) ot —~
/ /\
A S |




VDI #1731 J]E

Driven Tooling System

%5

11>~

- MERER-SEE - BIRS - €87
- R EREIRS

- Grinding gears - high precision, low noise, low temperature rise.
- Provide customized service.

BamAaI
Driven Method

-DIN1809 -DIN5480

-DIN5482 -TOME




74 LPL:
cHamn ] TURNING TOOL HOLDER o 15010889.5

[N

=

h4 |
Vi
<_r]5

|
i

]

hs
T~
//
\

|
2]

he
he
hy

I 2
= T [\
| 4525 Feature
- 1%1a - A -Radial - right handed
-5g7)%s -Short tool holder.
- M KA, -With coolant hole.
R~F Size
dlixh2xl2
150.B1.30.20.40 30x20x40 30 70 35 10 20 29 26 22 28 38 30 22 40 | 25° 1.38
150.B1.30.20.60 30x20x 60 30 70 35 10 20 29 26 22 28 38 30 42 60 | 25° 2.02
150.B1.40.25.44 40x25x44 40 85 (425|125 25 34 35 30 | 325 48 - 22 44 - 2.36
150.B1.50.32.55 50x32x55 50 | 100 | 50 16 32 41 42 35 35 60 - 30 55 - 4.14
pa—
(K8
e | & TIE
CHAIN TURNING TOOL HOLDER D|N|501ogii.3
s
b1
b 2
bs I
— |<7 \ ?.D
~ _—
2 S —
FE e s
~ © Ll c
& ot ~ < l
L — = ; 59
| 4525 Feature
- 108 - A -Radial - Left handed
-5 J]ZE -Short tool holder.
- MY KA, -With coolant hole

B8
(KGS)
Weight
150.B2.30.20.40 30x20x40 30 | 70 | 35 | 10 | 20 | 29 | 26 | 22 | 28 | 38 | 30 | 22 | 40 | 25° 1.40
150.B2.30.20.60 30x20x 60 30 | 70 | 35 | 10 | 20 | 29 | 26 | 22 | 28 | 38 | 30 | 42 | 60 | 25° 2.02
150.B2.40.25.44 40x25x 44 40 | 85 |425|125| 25 34 | 35 | 30 [325| 48 - 22 | 44 - 2.38

150.B2.50.32.55 50x32x55 50 | 100 | 50 | 16 | 32 | 41 | 42 | 35 | 35 | 60 - 30 | 55 - -

R~ Size

dlixh2xl2

o f=EE I Unit of Length (mm)

& RN B533




(> | 5 s T] R o

CHAIN TURNING TOOL HOLDER DIN ISO 10889-3 10889
b
[ 8

ot
\LQ ] ‘DT
I \/-\\’ i ﬂ-c
S AT Pe
1
b2
ol
| 4% Feature
- &3 - G - Radial - right handed
o AR - Short tool holder.
-JRm@ETF - Turning insert downwards.
- M KL - With coolant hole.

R~ Size 28
diX hix |2 (KGS)
Weight
150.B3.30.20.40 30x20x40 30 70 35 10 20 29 26 22 38 35 28 22 40 | 25° 1.42

150.B3.30.20.60 30x20x 60 30 | 70 | 35 | 10 | 20 | 29 | 26 | 22 | 38 | 35 | 28 | 42 | 60 | 25° 21

150.B3.40.25.44 40x 25 x 44 40 | 85 | 425|125| 25 | 34 | 35 | 30 | 48 |425| - 22 | 44 - 2.52
150.B3.50.32.55 50x32x55 50 | 100 | 50 16 32 41 42 35 60 50 - 30 55 - -
< (= pa
O BN BISEPINED
CHAIN B TURNING TOOL HOLDER DIN ISO 10889-3 -
=R
o]
b2
b
_LCn i L 7_&* f
Il — 1
/ fse)
_é, NT ~ = ]
| — by
| 4525 Feature
- 1@ - 72 - Radial - left handed
SIS - Short tool holder.
-JRm@ETF - Turning insert downwards.
- B KL - With coolant hole.

R~ Size

dixhixlz

150.B4.30.20.40 30x20x40 30 | 70 | 35 | 10 | 20 | 29 | 26 | 22 | 38 | 35 | 28 | 22 | 40 | 25° -
150.B4.30.20.60 30x20x 60 30 | 70 | 35 | 10 | 20 | 29 | 26 | 22 | 38 | 35 | 28 | 42 | 60 | 25° -
150.B4.40.25.44 40x 25 x 44 40 | 85 |425|125| 25 34 | 35 | 30 | 48 |425| - 22 | 44 - 252
150.B4.50.32.55 50x32x55 50 | 100 | 50 | 16 | 32 | 41 | 42 | 35 | 60 | 50 - 30 | 55 - -

« £ EAI Unit of Length (mm)

B534 €& CHAIN

HEAOWAY




(e | v E 7] on

cHain l FACE TURNING TOOL HOLDER DN ISO 108894 0a5s
®-
(G
*R

;%‘%
hs
-
L

T/&:

in

o
]
d

| 4% Feature

- BhE - A - Axial - right handed
- 5gJ)ze - Short tool holder.
- M KA, -With coolant hole.
R~ Size =
diX h1 e
Weight
150.C1.30.20 30x20 30 | 70 | 35 17 20 29 | 26 | 22 | 28 | 38 | 30 | 70 10 | 30 | 25° 1.90
150.C1.40.25 40x25 40 | 85 |425| 21 25 34 | 35 30 | 325 48 - 85 | 125| 30 - 3.38
150.C1.50.32 50x 32 50 | 100 | 50 26 32 41 42 35 35 60 - 100 | 16 40 - -

(> | vwmE 7] e

CHAIN FACE TURNING TOOL HOLDER DIN ISO 10889-4
HEAOWAY ‘
=R
b4 |1
bsb I s
S R
el £ QLJ——' -
&l = - 2 O
E Nt El ~y —L
— |= ]
= aQ ﬁ[
| 4525 Feature
- BAE - 224 - Axial - left handed
-4g )28 - Short tool holder.
- MY KA, - With coolant hole.
R~ Size ES=
dix h (KGS)
1X h1 Weight
150.C2.30.20 30x20 30 76 41 23 20 29 26 22 28 38 30 70 10 30 | 25° 2.06
150.C2.40.25 40x 25 40 90 (475|255 | 25 34 35 30 | 325 48 - 85 [ 125 | 30 - 3.64
150.C2.50.32 50x32 50 [ 105 | 55 |[30.5| 32 41 42 35 35 60 - 100 | 16 40 - -

o f=EE I Unit of Length (mm)

e THAIN B535




(> | th E 7] g

CHAIN B FACE TURNING TOOL HOLDER DIN ISO 10889-4 10889
[
QD)
R

ha

hs

b
| 4% Feature
- BAE - A - Axial - right handed
o AES - Short tool holder.
- JhR@EF - Turning insert downwards.
- P 7K AL - With coolant hole.
R Size g
diX h1 (KGS)
Weight
150.C3.30.20 30x 20 30 70 35 17 20 29 26 22 28 35 28 70 10 30 | 25° 1.96
150.C3.40.25 40x25 40 85 [425| 21 25 34 35 30 48 | 425 - 85 | 125 | 30 - 3.54
150.C3.50.32 | 50x32 | 50 | 100 | 50 | 26 | 32 | 41 | 42 | 35 | 60 | 50 | - | 100 | 16 | 40 | - -

< (=
O B BiPAYEn
e | FACE TURNING TOOL HOLDER DIN 50 10689-4

77 7\ ‘Ll'_)
& <
1C -
j_ | <
[9)]
b |17
bs
ba
| 4525 Feature
- Bh[E - o - Axial - left handed
-FJR - Short tool holder.
-JJRM@ETF - Turning insert downwards.
- P K AL - With coolant hole.
R~J Size E=
diX h1 .
Weight
150.C4.30.20 30x20 30 76 41 23 20 29 26 22 38 35 28 70 10 30 25° 2.2
150.C4.40.25 40x 25 40 90 (475|255 | 25 34 35 30 48 | 425 - 85 | 125 | 30 - 3.86
150.C4.50.32 50x 32 50 [ 105 | 55 | 305 32 41 42 35 60 50 - 100 | 16 40 - -

« £ EAI Unit of Length (mm)

B536 {g&> CHAIN

HEAOWAY




> W RFLETIRE on

cHain W FACE TURNING TOOL HOLDER DN SO 108895 0a5s
b
[
1
ds

| 425 Feature

- AEAZE  H5 - Tolerance of internal hole: H5.
- VK - With center coolant.

150.E1.30.20 30x20 30 20 40 12 M10x1 68 28 30 67 54 22 15 35 1.28
150.E1.30.25 30x25 30 25 45 17 M12x1 68 28 30 71 59 22 17 40 1.34
150.E1.30.32 30x32 30 32 52 24 M12x1 68 28 30 75 63 22 17 44 1.43
150.E1.30.40 30x40 30 40 65 24 M16x1 68 28 30 90 73 22 22 50 -
150.E1.40.18 40x 18 40 18 40 12 M10x1 83 325 - 67 54 22 15 35 -
150.E1.40.20 40x 20 40 20 40 12 M10x1 83 325 - 67 54 22 15 35 1.84
150.E1.40.25 40x 25 40 25 45 17 M12x1 83 325 - 75 59 22 17 40 1.98
150.E1.40.32 40x 32 40 32 52 24 M12x1 83 325 - 75 63 22 17 44 1.98
150.E1.40.40 40 x40 40 40 65 24 M16x1 83 32.5 - 90 73 22 22 50 2.58
150.E1.40.50 40x 50 40 50 75 32 M16x1 83 325 - 100 83 22 24 60 3.54
150.E1.50.20 50x20 50 20 40 12 M10x1 98 35 - 67 54 30 15 35 -
150.E1.50.25 50x25 50 25 45 17 M12x1 98 35 - 80 59 30 17 40 -
150.E1.50.32 50x32 50 32 52 24 M12x1 98 35 - 80 63 30 17 44 -
150.E1.50.40 50x40 50 40 65 32 M16x1 98 35 - 90 73 30 22 50 -
150.E1.50.50 50x50 50 50 75 42 M16x1 98 35 - 100 83 30 24 60 -
e VDI =z
CHAIN VDI DRILLING CHUCK TYPE SPU

HEAOWAY

58
(KGS)
Weight

150.30.669.08 30xSPU8 30 0.5-8 36 68 28 68 71 -
150.30.669.13 30xSPU13 30 1-13 50 68 28 90 96 2.32
150.30.669.16 30xSPU16 30 3-16 57 68 28 90 101 246
150.40.669.08 40 x SPU8 40 0.5-8 36 83 325 68 71 1.84
150.40.669.13 40x SPU13 40 1-13 50 83 325 90 96 246
150.40.669.16 40x SPU16 40 3-16 57 83 325 90 101 3.12
150.50.669.13 50xSPU13 50 1-13 57 98 35 90 96 -
150.50.669.16 50xSPU16 50 3-16 57 98 35 90 101 -

« £E E A7 Unit of Length (mm)

(> THAIN B537

HEAOWAY




(e | 7L 5 7] oI

crimm | FACE TURNING TOOL HOLDER 150 10889 10559
®-
()
L3S

ls

ds

!

I
/Za
S

| d:
o

| 4525 Feature

- ARAZE : HS - Tolerance of internal hole: H5.

NP - With center coolant.

R~T Size
diX d2
150.E2.30.08 30x8 30 8 68 6 55 Mé 28 30 22 60 51 1.60
150.E2.30.10 30x 10 30 10 68 8 55 M6 28 30 22 60 51 1.59
150.E2.30.12 30x 12 30 12 68 10 55 M8 28 30 22 60 51 1.57
150.E2.30.14 30x 14 30 14 68 10 55 M8 28 30 22 60 52 1.82
150.E2.30.16 30x16 30 16 68 12 55 M8 28 30 22 60 51 1.48
< 150.E2.30.18 30x18 30 18 68 10 55 M8 28 30 22 60 52 -
g 150.E2.30.20 30x20 30 20 68 16 55 M8 28 30 22 60 51 144

150.E2.30.25 30x25 30 25 68 16 55 M8 28 30 22 60 51 1.36
150.E2.30.32 30x32 30 32 68 16 68 M8 28 30 22 75 51 1.88
150.E2.40.10 40x 10 40 10 83 8 55 M10 325 - 22 75 67 -
150.E2.40.12 40x12 40 12 83 10 55 M10 325 - 22 75 61 2.44
150.E2.40.14 40x 14 40 14 83 10 55 M8 325 - 22 75 63 -
150.E2.40.16 40x 16 40 16 83 12 55 M10 325 - 22 75 61 2.30
150.E2.40.18 40x 18 40 18 83 10 55 M8 325 - 22 75 62 -
150.E2.40.20 40x 20 40 20 83 16 55 M10 325 - 22 75 61 2.25
150.E2.40.25 40x 25 40 25 83 20.5 55 M10 325 - 22 75 61 2.23
150.E2.40.32 40x 32 40 32 83 20.5 83 M10 325 - 22 75 61 3.20
150.E2.40.40 40x40 40 40 83 20.5 83 M10 325 - 22 75 75 3.64
150.E2.40.50 40x 50 40 50 83 20.5 83 M12 325 - 22 75 75 1.86
150.E2.50.12 50x 12 50 12 98 10 68 M8 35 - 30 90 76 -
150.E2.50.16 50x 16 50 16 98 12 68 M10 35 - 30 90 76 -
150.E2.50.20 50x 20 50 20 98 16 68 M12 35 - 30 90 76 -
150.E2.50.25 50x 25 50 25 98 20 68 M12 35 - 30 90 76 -
150.E2.50.32 50x 32 50 32 98 25 68 M12 35 - 30 90 76 -
150.E2.50.40 50x 40 50 40 98 25 98 M12 35 - 30 90 76 -
150.E2.50.50 50x 50 50 50 98 25 98 M12 35 - 30 100 86 5.24

« £ EAI Unit of Length (mm)

B538 {g&> CHAIN

HEAOWAY




- IEoCEEXTIE

cuain | EOC COLLET CHUCK HOLDER FOR EOC COLLET 150 10889-4 10889
®-
o

B
(KGS)
Weight

150.E3.30.25 30x EOC25 30 68 16.5 60 28 30 22 59 75 -
150.E3.40.25 40x EOC25 40 83 20.5 60 325 - 22 59 75 -
150.E3.40.32 40x EOC32 40 83 20.5 72 325 - 22 73 90 2.6
150.E3.50.25 50x EOC25 50 98 255 60 35 - 30 59 75 -
150.E3.50.32 50x EOC32 50 98 255 72 35 - 30 73 90 -

[E E R E _t 7] r DINISO 10889-6

CHAIN B ERCOLLET CHUCK HOLDER FOR ER COLLET DINISO 15488

HEAOWAY

i
Yy -6L -
i<
\t_/
ds
ls
| 4525 Feature
- ¥ABC DIN-15488 584 FK - o RIFZERIE - It can match with ER Spring Collet (DIN-15488 standard) and can
_ SEEEEE = clamp all kinds of straight shank tools.
A EENSIRIEE S 1t + e - - Rigidity can be raised by using ER Power Good Clamping Nut.
- BEPHIRIERAER  "EHK  BEMEBERS - Matching with non wind resistance nut can raise clamping power,

stability and precision.

=1

=
I (KGS)
150.E4.30.25 30x ER25 30 25 68 16.5 42 28 30 22 45 57 1.08
150.E4.30.32 30 x ER32 30 32 68 16.5 50 28 30 22 49 62 -
150.E4.30.40 30 x ER40 30 40 68 16.5 63 28 30 22 56 70 -
150.E4.40.25 40 x ER25 40 25 83 20.5 42 325 - 22 45 57 1.66
150.E4.40.32 40 x ER32 40 32 83 20.5 50 325 - 22 49.5 62 1.77
150.E4.40.40 40 x ER40 40 40 83 20.5 63 325 - 22 61 75 2.10
150.E4.50.40 50x ER40 50 40 98 20.5 63 35 - 30 61 75 -

« £E E A7 Unit of Length (mm)

(G- THAIN B539

HEAOWAY




rad NDIEX

CHAIN VDI BLANK DIN ISO 10889-2 10889

R~ Size
diX 1
150.A1.30.85 30x85 30 85 130 76 -
150.A1.40.100 40x 100 40 100 151 96 -
{7 VDI =#1
CHAIN VDI BLANK DIN ISO 10889-2

HEAOWAY

o1

15 max. d

818 R~F Size =8
Spec diX 2 e
. Weight
150.A2.30.100 30x 100 30 68 100 -
150.A2.30.240 30x240 30 68 240 -
150.A2.40.120 40x 120 40 83 120 -
150.A2.40.200 40x 200 40 83 200 -
150.A2.40.320 40x 320 40 83 320 -
AN
(7> § VDI =8l 45 50 4%
CHAIN VDI SPINDLE MASTER BAR TYPEBC
HEAOWAY “
L3S
|
. HNW
S o
1 — s
||
ds - l2 L— ;
s $EEHEE Taper Precision AT2
B EH[EE Roundness 0.001mm
. ] O FEHEE Surface Roughness Ra<0.4
] ] B E Concentricity 0.005mm
3EFE SRS o=
SEZE(‘: dE_J—d IZT l1 I2 di d2 ds (KGS)
pec. 1X d2X |1 Weight
150.30.40.230 30x40x230 230 16 30 40 68 4.30
150.40.40.200 40 x40 x 200 200 16 40 40 83 4.42
150.50.40.200 50x40x 200 200 15 50 40 98 5.22

« £ EAI Unit of Length (mm)

B540 &g&> CHAIN

HEAOWAY




4 EXiL

CHAIN B REFERENCE DETAILS

HEAOWAY

PSC32 39 27.9 32 15 165 M12x1.5P 2.5 19 15 6 6 135
PSC40 46 34.9 40 18 20 M14x1.5P 2.5 24 20 9 6 17.5
PSC50 | 59.3 44 50 21 24 M16x1.5P 3 30 20 10 7 22
PSC63 | 707 55.4 63 28 32 M20x2.0P 3 38 22 11 9 26
PSC80 86 70.7 80 32 38 M20x2.0P 3 48 30 20 0 34
PSC80X | 110 88.3 10 32 38 M20x2.0P 3 48 32 20 0 34

1. $#EREE <AT3 1. Taper tolerance < AT3.

2. 1€ :HRC 56° 2.Hardness>HRC 56°.

3. BFEE >0.8mm 3. Carbon depth>0.8mm.

4. HEE :< 0.8um 4. Roundness < 0.8um.

5. REMBEE Ra< 0.25um 5. Surface roughness :Ra < 0.25um.

6. R ETERIZEEFH G6.3 - O] BIMEEBEREFE G2.5 6. The shank has pre-balance at G6.3,and can provide

7. RE2FRE [1SO 26623-1 precision balance at G2.5,made by request.

7.Shank body standard : ISO 26623-1.

« £E E A7 Unit of Length (mm)

e THAIN B541




(> | PSC {RiBIR &

CHAIN PSC CODING STANDARDS

HEAOWAY

O =OEH
PSC Style

@ EiREE T

Clamping System

© il © =iy
Clearance Angle Length
gt IhEE RCOE IOEE

2ok At BEERRA | B 435 794 9525 12.00 12.70

Code Code Function Code Function [JCode ClearanceAngle| Code
PSC32(C3) BB LR || A 3° A el 06 | 08 | 09 | - | 12
Back Clamp Multi Top o [ —80°
PSC4O(C4) A System M and Hole B >
PSC50(C5) Clamping || C 7° Alesol 07 | - | 11| - | 15
PSC63(C6) EE= migs  ||D 15° o
PSC80(C8) C |TopClamping| P |PinLockHole|| E 20° Agse| 11 - 16 - B}
PSC8OX(C8X) Without Hole Clamping F 250
D Double Clamp S B2,z G 30° Q - - - 12 -
System Screw On N 0°
E Off-set pin T Taper lock A 11 13 16 - 22
System System P 11° E
Bz - - 09 - 12
Screw-on Wedge Top : / —
S System W and Hole

Clamping Q - - 06 - 08
Back Clamp
JT System \—\

PSC63-MC L
o

T B FZHR EAE O 1415 O 125uE

Lead Angle Hand Effective Length
ok B2 s B o 1D 7
Code Figure Code Figure Code Figure

Insert Shape
I AE B

Code Angle Figure

C | 80° ?W
[T
D
7
K LT
R| - o %
= 2
T - | A
\37}
\% 35° R
o 900
W | 80 D . ﬁ T
L -
90°
H| 12000 O G E[H U
A | 85 | [7 H 107.5°ﬁ v
B | 82° | 7 p—
J Tﬁ W
E| 75 |
M| 8 | O k | ﬁ Y
0|13 O L os
P | 108° E
Q « £ EAI Unit of Length (mm)

B542 &g&> CHAIN

HEAOWAY




Z:

CHAIN
HEAOWAY

PSC %5 %

PSC FEATURE

Triangular polygon
cone driver

—RiERR

Through-Tool
Coolant

H KA

4 ATC Sockets

WS, PSS
MRATCIRERE(

EREMRES
XYZEhEWEEREURBEZ+2um - J]
BiEHNERNREBEZ3um -

B E E A RERE
BEERELEBESREN=AER XA
1205 EEE MRV B - EEH
ML - ARRBEMRE - BIAEH
s - BYJHHEEZRETID M - 2
SHERE -

REEEMR

RRERRE - RENREMEBE - o
BN EEFRLIEMIESD - Bz
WAL B LEA(ERIESES - &
MIESUEERERAZER -

A5 2009
uuuuuuuuuuuuu

Magazine and
Spindle Socket

EHEMIE

1:20 taper with
dual-contact

RAL1:208E
EEARNGE

Extension
Alignment
BicEE

R ERGNE SR

High Precision Coupling
The precision during repeated coupling in the XYZ
direction is £2um and the run-out accuracy is 3um.

Unique Dual Contact Design

The coupling structure is a high precision triangular form with
a 1:20 taper for dual contact and tight clamping. Designed
without drive keys evenly distributes torque without balance
irregularities. There are no axial discrapencies during lathe
turning due to consistant positioning.

Increase Productivity

Rigid clamping for superior stability and precision, which
produces minimal wear and a longer tool life. The universal
applications and modular interface allow manufacturers to save
time and space.

« £E EAI Unit of Length (mm)

(- THAIN B543

HEAOWAY




CHAIN

HEAIDOWAY

% PSC

=it = E

Modular combination

PSC + IAP
PSC + CIAP
[ ) [ ]
Milling %5k ~
PSC + MAP
‘ PSC + CMAP
o A Sons ;
.l'...,q } 9 (i~ ) “Q.e ] =
- ¢
Cam t-‘r: 3 l‘:‘\ oo "‘? NN
PN ’ \ o . -
= W D
Lo 2 e o>
FACE MILLING CUTTERS
o_ COLLET |
SEALED mf PSC + MLD
SEALED
COLLET ’ q‘?‘"‘ on
o PSC + SFC

T
X

WRENCHES NUTS COLLETS
\ Fj Rase 4
-~ COLLET -
PSC + SBL

o

WRENCHES

COLLET PSC + SKS

COLLET

PSC + PNER

— |

PSC TEST BAR

BLANK PSC
ADAPTER



BT + PSCADAPTER

I o’

b

DAT + PSCADAPTER

o

i B
wo- \ \ N
-

HSK + PSCADAPTER

;

¢

Turning &

B
R N

PSC/DWLN PSC/DTJN PSC / DDNN PSC / DCMN

PSC /DCLN PSC/DDJN PSC/DVLN PSC/DVVN
'

PSC /S25R PSC /SN20 PSC /SV20R/L PSC/DTJN

PSC/SF

Boring ##.

BORING CUTTER

A | AW

ACCESSORIES

r -(/," \ & &L L ®
‘ ‘c& ¢ \ ‘@ |

‘ SCK BORING HEAD
PSC + MCK EXTEN G

& 7

8
SMB BORING HEAD

PSC + PMB

B il

=l
PSC /PMB-DP



[_E-‘ EOTP _E%Etgi‘?gj]@ 1SO

CHAIN @ EOTP ONE-PIECE EXTERNAL TOOL POST FOR LATHE 26623-1

HEAOWAY

SR

NEW

ds

1)
\SZ/
®
0}

)
D

B A 28 mhs E
Applicable Machine (D)

type brand Weight
EOTP40-OR 108.5 | 24.5 43.5 35 26 54 76 105 50 49 PSC40 VICTOR 2.81
. : : TAICHUNG :
EOTP40 - HA 101 24.5 44.1 45 26 54 70 90 50 49 PSC40 HAAS 2.40
EOTP40 - MO 108.5 | 245 44 35 26 54 76 105 50 49 PSC40 DMG MORI 2.88
EOTP40 - MA 104 245 | 32.75 60 335 45 84 104 49 47.75 PSC40 MAZAK 2.90
EOTP40 - GW 114 24.5 49 35 26 54 76 105 50 49 PSC40 GOODWAY 2.99
EOTP40-EX 104 24.5 39 45 26 54 92 114 50 59 PSC40 TAKISAWA 2.90

(-]10TP —BE=t T TIE [ 43t |
AN IOTP ONE-PIECE INTERNAL TOOL POST FOR LATHE

Cl
HEAOWAY

R 128 o b -
Applicable Machine (KGS)
type brand Weight
I0TP40 - HA 60 30.4 21.3 45 70 PSC40 HAAS 2.70
IOTP40 - MA 93.2 63 10 60 84 PSC40 MAZAK 4.41
IOTP40 - MO 80 46 25 35 76 PSC40 DMG MORI 4.10
VICTOR

I0TP40-OR 81 46 25 35 76 PSC40 TAICHUNG 4.15
I0TP40 - GW 75 40 25 35 76 PSC40 GOODWAY 4.20

- BRMERE - JERSRZ - HttRIREHEN

« £ EAI Unit of Length (mm)

B546 €& CHAIN

HEAOWAY




(7> | PSC/DDJN R EJ]

CHAIN B PSC/DDJN EXTERNAL TURNING TOOL 26623-1

HEAOWAY

SR

=]

=
(KGS)
Weight

PSC32-DDJNR-22045-15 64 45 32 22 18.1 DN..1504 0.22
PSC32-DDJNL-22045-15 64 45 32 22 18.1 DN..1504 0.22
PSC40-DDJNR-27050-15 74 50 40 27 225 DN..1504 0.42
PSC40-DDJNL-27050-15 74 50 40 27 225 DN..1504 0.42
PSC50-DDJNR-3506015 90 60 50 35 28.65 DN..1504 0.78
PSC50-DDJNL-35060-15 90 60 50 35 28.65 DN..1504 0.78
PSC63-DDJNR-45075-15 113 75 63 45 31 DN..1504 0.80
PSC63-DDJNL-45075-15 113 75 63 45 31 DN..1504 0.80

| B2 f3= Accessories
BA BRE®  KF  @HE BREH  EBREF  #mHE

> & =1 Nm & = (N.m)

Shim ShimScrew ~ Wrench ~ Torque ClampScrew ClampWrench ~ Torque
DN..1504 | DNS1504 - - - DCP-2 | M5-20-4.9 PL4 5.0

o f=EE I Unit of Length (mm)

E: THAIN B547




(7> PSC/DVLN $MNEET]

CHAIN B PSC/DVLN EXTERNAL TURNING TOOL 26623-1

HEAOWAY

E=
ot G
Weight

PSC32-DVLNR-20050-16 69 50 32 20 18.1 VN..1604 0.22
PSC32-DVLNL-20050-16 69 50 32 20 18.1 VN..1604 0.22
PSC40-DVLNR-27055-16 79 55 40 27 225 VN..1604 0.42
PSC40-DVLNL-27055-16 79 55 40 27 225 VN..1604 0.42
PSC50-DVLNR-35060-16 90 60 50 35 28.65 VN..1604 0.78
PSC50-DVLNL-35060-16 90 60 50 35 28.65 VN..1604 0.78
PSC63-DVLNR-45075-16 113 75 63 45 31 VN..1604 0.80
PSC63-DVLNL-45075-16 113 75 63 45 31 VN..1604 0.80

| B2 #% Accessories

2R R RE ANE B 1 PR 9% 4 BiRRF ANE
By & = (N.m) R o = (N.m)

Shim Screw Wrench Torque Clamp Clamp Screw Clamp Wrench Torque
VN..1604 VNS1604 - - - DCP-4 M5-20-4.9 PL4 5.0

(&= | PSC/DCMN 5hEE T]

crinm B PSC/DCMN EXTERNAL TURNING TOOL

HEAOWAY

11

Eg=
Spec. g : e (KG9

Weight
PSC32-DCMNN-00050-12 69 50 32 CN..1204 0.24
PSC40-DCMNN-00060-12 84 60 40 CN..1204 0.44
PSC50-DCMNN-00070-12 100 70 50 CN..1204 0.76
PSC63-DCMNN-00100-12 138 100 63 CN..1204 0.86

| B2 Accessories
BA 2R R RF EBiRB4%  ERIRF  BhE

@ W = M = (N.m)

Shim Shim Screw Wrench Clamp Screw  ClampWrench ~ Torque
CN..1204 | CNS1204 | M4-10-5.7-60 T15 3.0 DCP-2 M5-20-4.9 PL4 5.0

« £ EAI Unit of Length (mm)

B548 {g&> CHAIN

HEAOWAY




e

CHAIN
HEAOWAY

PSC/DDNN 4pRE ]

PSC/MDNN EXTERNAL TURNING TOOL

ISO
26623-1

@D

& =

Weight
PSC32-DDNNN-00050-15 69 50 32 DN..1504 0.22
PSC40-DDNNN-00060-15 84 60 40 DN..1504 0.40
PSC50-DDNNN-00070-15 100 70 50 DN..1504 0.70
PSC63-DDNNN-00100-15 138 100 63 DN..1504 0.80

| B2 #% Accessories

Nz

2R 9244

&

Shim Screw

wEF

Wrench

BAOE
(N.m)
Torque

[EZtR

&

Clamp

[ER R 92 %4

o>

Clamp Screw

B iRiRF
ﬂ

Clamp Wrench

BNE
(N.m)
Torque

DN..1504 DNS1504

M5-20-4.9

5.0

(> ]| PSC/DVVN $h &8 7]

CHAIN
HEAOWAY

PSC/DVVN EXTERNAL TURNING TOOL

7R

Insert

=
(D)
Weight

PSC32-DVVNN-00055-16 74 55 32 VN..1604 0.22
PSC40-DVVNN-00060-16 84 60 40 VN..1604 0.38
PSC50-DVVNN-00070-16 100 70 50 VN..1604 0.68
PSC63-DVVNN-00100-16 138 100 63 VN..1604 0.78

| B2 Accessories

25

=2 &
Shim
VN..1604 | VNS1604

25 9244

Shim Screw

RF HAOE
(N.m)

Wrench ~ Torque

DCP-4

AR IR 4%

o>

Clamp Screw

M5-20-4.9

[EEAR IR S

Clamp Wrench

PL4

HAE
(N.m)
Torque

5.0

o f=EE I Unit of Length (mm)

e THAIN B549




{7 PSC/DWLN $MEET]

CHAIN B PSC/DWLN EXTERNAL TURNING TOOL 26623-1

HEAOWAY

SR

Rig D di TR 5= (KGS)

Spec. Insert Weight
PSC40-DWLNR-27050-08 74 50 40 27 WN..0804 0.42
PSC40-DWLNL-27050-08 74 50 40 27 WN..0804 0.42
PSC50-DWLNR-35060-08 90 60 50 35 WN..0804 0.78
PSC50-DWLNL-35060-08 90 60 50 35 WN..0804 0.78
PSC63-DWLNR-45065-08 103 65 63 45 WN..0804 0.80
PSC63-DWLNL-45065-08 103 65 63 45 WN..0804 0.80
PSC80-DWLNR-55080-08 128 80 80 55 WN..0804 2.64
PSC80-DWLNL-55080-08 128 80 80 55 WN..0804 2.64

| B2 Accessories

=L G RF BNE EEAR 9B 44 RF BNE
& = (N.m) e = (N.m)

Shim Screw Wrench Torque Clamp Screw Wrench Torque
WN..0804 WNS0804 M5-12-7.1-70 T20 5.0 DCP-2 M5-20-4.9 PL4 5.0

(2> | PSC/DCLN 5hME 7]

cHAIN [l PSC/DCLN EXTERNAL TURNING TOOL

HEAOWAY

di

& di TR El £ (KGS)

Spec. Insert Weight
PSC32-DCLNR-22045-12 64 45 22 CN..1204 0.22
PSC32-DCLNL-22045-12 64 45 22 CN..1204 0.22
PSC40-DCLNR-27050-12 74 50 27 CN..1204 0.42
PSC40-DCLNL-27050-12 74 50 27 CN..1204 0.42
PSC50-DCLNR-35060-12 90 60 35 CN..1204 0.78
PSC50-DCLNR-35060-12 90 60 35 CN..1204 0.78
PSC63-DCLNR-45065-12 103 65 45 CN..1204 0.80
PSC63-DCLNL-45065-12 103 65 45 CN..1204 0.80
PSC80-DCLNR-55080-12 128 80 55 CN..1204 2.64
PSC80-DCLNL-55080-12 128 80 55 CN..1204 2.64

| B2 % Accessories

2R B R BE  mhm EBR OBRES  RKFE #HE

N g A m R O e® T Nm

Shim Shim Screw Wrench ~ Torque  Clamp  ClampScrew Wrench Torque
CN..1204 |CNS1204| M4-10-5.7-60 DCP-2 | M5-20-4.9

« £ EAI Unit of Length (mm)

B550 {g&> CHAIN

HEAOWAY



(> IPSC/DTJN 4MRET]

CHAIN B PSC/DTJN EXTERNAL TURNING TOOL 26623-1

HEAOWAY

SR

w18 5 " TR & B (KGS)

Spec. Insert Weight
PSC32-DTJNR -22040- 16 59 40 32 22 TN..1604 0.22
PSC32 - DTJNL-22040- 16 59 40 32 22 TN..1604 0.22
PSC32-DTJNR-27050- 16 74 50 32 27 TN..1604 0.42
PSC32-DTJNL-27050- 16 74 50 32 27 TN..1604 0.42
PSC32 - DTJNR - 35060 - 16 90 60 32 35 TN..1604 0.78
PSC32 - DTJNL - 35060 - 16 90 60 32 35 TN..1604 0.78
PSC32 - DTJNR - 45065- 16 103 65 32 45 TN..1604 0.80
PSC32 - DTJNL- 45065- 16 103 65 32 45 TN..1604 0.80

| B2 #% Accessories

HBHE [EZtR JER AR 9 4 IHE
(N.m) & (N.m)
Torque Clamp Torque

TN..1604 TNS1604 M4-9-5.15-47 T15 3.0 DCP-1 M5-20-4.9 PL4 5.0

(&: | PSC/SV SMBE T]

cHAIN [l PSC/SV EXTERNAL TURNING TOOL

HEAOWAY

o4

&

= = (KGS)
Weight
PSC50x SV20R - 123 153 123 97 90 20 16 3.56
PSC50x SV20L - 123 153 123 97 90 20 16 3.56
PSC63 x SV20R - 125 163 125 97 90 20 16 3.58
PSC63 x SV20L- 125 163 125 97 90 20 16 3.58
PSC80x SV32R - 150 198 150 114 120 32 20 7.13
PSC80x SV32L - 150 198 150 114 120 32 20 7.13

| B2 f3= Accessories

2R B4 [EEAR 92 4t

TR
Insert ﬁp M

Shim Screw Clamp Screw

CN..1204 C12BM SM6x10xA1 C2RA CM6x25C SPR4 « REEEAI Unit of Length (mm)

(> THAIN B551

HEAOWAY




(> | PSC/SN SN EET] 50

CHAIN Bl PSC/SN EXTERNAL TURNING TOOL 26623-1

HEAOWAY

SR

INEW

bk B £ (KGS)
Spec. Weight
PSC50 x SN20R - 97 127 97 72 315 20 1.66
PSC50 x SN20L - 97 127 97 72 31.5 20 1.66
PSC63 x SN20R - 99 137 99 72 31.5 20 2.10
PSC63 x SN20R - 99 137 99 72 31.5 20 2.10
PSC80 x SN32R - 135 183 135 140 45 32 6.51
PSC80 x SN32L - 135 183 135 140 45 32 6.51

| B2 Accessories
51244 B YR 4%

& >

Shim Screw Clamp Screw

WN..0804 WO08BM SM6x10xA1 C2RA CM6x25C SPR4

(e: |PSC/ SHE&ET]

crinma B PSC/S EXTERNAL TURNING TOOL

HEAOWAY

& & £ (KG9)

Spec. Weight
PSC50 x S20R - 98 128 98 68 90 20 2.22
PSC50 x S20L - 98 128 98 68 90 20 2.22
PSC63 x S20R - 100 138 100 75 90 20 2.34
PSC63 x S20L - 100 138 100 75 90 20 2.34
PSC63 xS25R - 130 168 130 102 103.5 25 3.93
PSC63 xS25L - 130 168 130 102 103.5 25 3.93
PSC80x S32L - 140 188 140 130 110 32 5.05
PSC80 x S32R - 140 188 140 130 110 32 5.05
PSC80X x S32L - 143 191 143 133 145 32 7.75
PSC80X x S32R - 143 191 143 133 145 32 7.75

| B2 % Accessories
5 1244 AR R 4%

TR
Insert @p M

Shim Screw Clamp Screw

CN..1204 C12BM SM6x10xA1 C2RA CM6x25C SPR4 « REEA] Unit of Length (mm)

B552 €& CHAIN

HEAOWAY




o

HEAOWAY

PSC/SF SME & 7]

PSC/SF EXTERNAL TURNING TOOL

ISO
26623-1

R

NEW

A e h d 5= .(KGS)

Spec. Weight
PSC40xSF20-55 79 55 35 36 30 20 80 0.84
PSC50xSF20-65 95 65 45 39 25.5 20 85 143
PSC63xSF20-70 108 70 50 39 25.5 20 85 1.84
PSC63xSF25-80 118 80 55 46 315 25 103 2.55
PSC63xSF32-80 118 80 48 65 40 32 142 3.64
PSC80xSF25-75 123 75 50 46 31.5 25 103 3.01
PSC80xSF25-150 198 150 125 46 315 25 103 5.84
PSC80xSF25-180 228 180 155 46 315 25 103 6.97
PSC80xSF32-85 133 85 53 65 40 32 142 4.52
PSC80X x SF32-90 138 90 58 65 40 32 142 5.65
PSC100xSF32-90 150 90 58 65 40 32 145 6.45

| B2 f3= Accessories

2R B4

[EEAR 92 4t

TR
Insert ﬁp M

Shim Screw Clamp Screw

SMé6x10xA1 C2RA CMé6x25C SPR4

« £E E A7 Unit of Length (mm)

CN..1204 C12BM

(> THAIN B553

HEAOWAY




{z: )| PSC/SFC 5 AR 118

CHAIN PSC/SFC SHRINK-FIT CHUCK 26623-1
[
.
Fig.1
Fig.2
| 4525 Feature
- 1EXES) % G2.5 25000rpm -Dynamic balancing G2.5 at 25000 rpm.
Sfijf. d2 ds T Fig. (KC?;)
Weight

PSC40xSFC6-75 75 36 53 6 20 26 M5 x0.8P 2 -
PSC40xSFC8-75 75 36 53 8 20 26 Mé x 1.0P 1 -
PSC40xSFC10-75 75 42 54 10 24 32 M8 x 1.25P 1 -
PSC40xSFC12-75 75 47 54 12 24 32 M10x 1.5P 1 -
PSC40xSFC14-80 80 47 59 14 27 34 M10x 1.5P 1 -
PSC40xSFC16-80 80 50 59 16 27 34 M12x 1.75P 1 -
PSC40xSFC18-80 80 52 59 18 33 42 M12x 1.75P 1 -
PSC40xSFC20-85 85 52 64 20 33 42 M16 x 2.0P 1 -
PSC50xSFC6-75 75 36 53 6 20 26 M5 x0.8P 2 -
PSC50xSFC8-75 75 36 53 8 20 26 Mé x 1.0P 1 -
PSC50xSFC10-75 75 42 54 10 24 32 M8 x 1.25P 1 -
PSC50xSFC12-75 75 47 59 12 24 32 M10x 1.5P 1 -
PSC50xSFC14-80 80 47 59 14 27 34 M10x 1.5P 1 -
PSC50xSFC16-80 80 50 59 16 27 34 M12x 1.75P 1 -
PSC50xSFC18-80 80 52 59 18 33 42 M12x 1.75P 1 -
PSC50xSFC20-85 85 52 64 20 33 42 M16 x 2.0P 1 -
PSC50xSFC25-90 90 58 68 25 44 53 M20 x 2.0P 1 -
PSC63xSFC6-80 80 36 53 6 20 26 M5 x 0.8P 2 -
PSC63xSFC8-80 80 36 53 8 20 26 Mé x 1.0P 1 -
PSC63xSFC10-80 80 52 53 10 24 32 M8 x 1.25P 1 -
PSC63xSFC12-80 80 52 56 12 24 32 M10x 1.5P 1 -
PSC63xSFC14-85 85 47 58 14 27 34 M10x 1.5P 1 -
PSC63xSFC16-85 85 52 58 16 27 34 M12x 1.75P 1 -
PSC63xSFC18-85 85 52 58 18 33 42 M12x 1.75P 1 -
PSC63xSFC20-85 85 52 58 20 33 42 M16 x 2.0P 1 -
PSC63xSFC25-90 90 58 66 25 44 53 M20 x 2.0P 1 -
PSC63xSFC32-95 95 58 71 32 44 53 M20 x 2.0P 1 -

| 2823 Option

MEREE Hot-Air
B400 B655 « £ EAI Unit of Length (mm)

B554 €& CHAIN

HEAOWAY




{z> | PSC/ER XTI 7] 758

CHAIN B PSC/ER COLLET CHUCK 26623-1

HEAOWAY

R

Weight
PSC32xER16-45 45 28 28 ?1~@10 0.20
PSC32xER20-45 45 34 34 ?2~@13 0.30
PSC40xER16-70 70 28 28 ?1~@10 0.40
PSC40xER20-52 52 34 34 ?2~013 0.30
PSC40xER25-52 52 42 42 B2~D16 0.40
PSC40xER32-54 54 50 50 @3~@20 0.50
PSC50xER16-100 100 28 28 ?1~@10 0.90
PSC50xER20-55 55 34 34 @2~@13 0.50
PSC50xER20-100 100 34 34 @2~@13 0.80
PSC50xER25-55 55 42 42 D2~D16 0.50
PSC50xER32-57 57 50 50 @3~@20 0.60
PSC50xER32-100 100 50 50 @3~@20 0.90
PSC63xER16-100 100 28 28 ?1~@10 1.30
PSC63xER20-60 60 34 34 ?2~D13 0.80
PSC63xER25-60 60 42 42 D2~D16 1.08
PSC63xER25-100 100 42 42 D2~D16 1.30
PSC63xER32-70 70 50 50 @3~@20 0.80
PSC63xER32-100 100 50 50 @3~@20 1.50
PSC63xER40-65 65 63 63 D3~D26 1.10

| 2% Option

Collet 9208 Nut %3 Spanner  #47J]FE Lock Device

B612 B634 B650 B655 o f=EE I Unit of Length (mm)

(G- THAIN B555

HEAOWAY




(—é PSC/Pro.E SESAWAL = IS0

CHAIN PSC/Pro.E COLLET CHUCK 26623-1

HEAOWAY

SR

d: NEW

W, e

ds

REFEE  EE (KGS)

Clamp Range Weight

PSC40xPro.E32-100 124 100 76 50 50 M16x2.0P 2~20 1.04
PSC40xPro.E32-125 149 125 101 50 50 M16x2.0P 2~20 1.36
PSC40xPro.E32-150 174 150 126 50 50 M16x2.0P 2~20 1.69
PSC50xPro.E25-100 130 100 79 42 42 M16x2.0P 1~16 1.09
PSC50xPro.E25-125 155 125 104 42 42 M16x2.0P 1~16 1.32
PSC50xPro.E25-150 180 150 129 42 42 M16x2.0P 1~16 1.56
PSC50xPro.E32-70 100 70 49 50 50 - 2~20 0.84
PSC50xPro.E32-100 130 100 79 50 50 M16x2.0P 2~20 1.23
PSC50xPro.E32-125 155 125 104 50 50 M16x2.0P 2~20 1.54
PSC50xPro.E32-150 180 150 129 50 50 M16x2.0P 2~20 1.85
PSC63xPro.E16-70 108 70 43 30 30 - 1~10 0.94
PSC63xPro.E16-100 138 100 73 30 30 M10x1.5P 1~10 1.09
PSC63xPro.E16-125 163 125 98 30 30 M10x1.5P 1~10 1.18
PSC63xPro.E16-150 188 150 123 30 30 M10x1.5P 1~10 1.26
PSC63xPro.E16-200 238 200 173 30 30 M10x1.5P 1~10 1.44
PSC63xPro.E20-70 108 70 43 35 35 - 1~13 1.00
PSC63xPro.E20-100 138 100 70 35 35 M12x1.75P 1~13 1.21
PSC63xPro.E20-125 163 125 95 35 35 M12x1.75P 1~13 1.35
PSC63xPro.E20-150 188 150 120 35 35 M12x1.75P 1~13 1.49
PSCé63xPro.E20-200 238 200 170 35 35 M12x1.75P 1~13 1.76
PSC63xPro.E25-70 108 70 45 42 42 - 1~16 1.11
PSC63xPro.E25-100 138 100 75 42 42 M16x2.0P 1~16 1.39
PSC63xPro.E25-125 163 125 100 42 42 M16x2.0P 1~16 1.60
PSC63xPro.E25-150 188 150 125 42 42 M16x2.0P 1~16 1.82
PSC63xPro.E25-200 238 200 175 42 42 M16x2.0P 1~16 2.26
PSC63xPro.E32-70 108 70 45 50 50 - 2~20 1.16
PSC63xPro.E32-100 138 100 75 50 50 M16x2.0P 2~20 1.52
PSC63xPro.E32-125 163 125 100 50 50 M16x2.0P 2~20 1.82
PSC63xPro.E32-150 188 150 125 50 50 M16x2.0P 2~20 212
PSC63xPro.E32-200 238 200 175 50 50 M16x2.0P 2~20 272
PSC80xPro.E16-100 148 100 65 30 30 M10x1.5P 1~10 2.00
PSC80xPro.E16-125 173 125 90 30 30 M10x1.5P 1~10 2.13
PSC80xPro.E16-150 198 150 110 30 30 M10x1.5P 1~10 227
PSC80xPro.E16-200 248 200 160 30 30 M10x1.5P 1~10 2.52
PSC80xPro.E20-100 148 100 65 35 35 M12x1.75P 1~13 2.10
PSC80xPro.E20-125 173 125 90 35 35 M12x1.75P 1~13 2.28
PSC80xPro.E20-150 198 150 110 35 35 M12x1.75P 1~13 246
PSC80xPro.E20-200 248 200 160 35 35 M12x1.75P 1~13 2.80

« £ EAI Unit of Length (mm)

B556 €& CHAIN

HEAOWAY




{z> | PSC/PNER II#: T3 58

CHAIN B PSC/PNER COLLET CHUCK 26623-1

HEAOWAY
¥BFE Accuracy : < 3um [

ds

| 4525 Feature
- 1ZEH) T G2.525000rpm - Standard balance of G2.5 at 25000 rpm.

KizEE  EE (KGS)

Size Range Weight

PSC32 x PNER16 - 45 64 45 29 30 30 - 3~10 0.21
PSC32 x PNER20 - 45 64 45 30 32 32 - 3~13 0.21
PSC40 x PNER16 - 55 79 55 30 30 30 - 3~10 0.36
PSC40 x PNER20 - 55 79 55 31 32 32 - 3~13 0.36
PSC50 x PNER16 - 60 90 60 34 30 30 - 3~10 0.56
PSC50 x PNER16 - 100 130 100 74 30 30 M10x1.5P 3~10 0.75
PSC50 x PNER20 - 60 90 60 34 32 32 - 3~13 0.57
PSC50 x PNER25 - 60 90 60 37 40 40 - 3~16 0.63
PSC50 x PNER32 - 60 90 60 37 50 50 - 3~20 0.70
PSC63 x PNER16 - 60 98 60 35 30 30 - 3~10 0.87
PSC63 x PNER16 - 100 138 100 75 30 30 M10x1.5P 3~10 1.07
PSC63 x PNER20 - 60 98 60 35 32 32 - 3~13 0.88
PSC63 x PNER20 - 100 138 100 75 32 32 M12x1.75P 3~13 1.10
PSC63 x PNER25 - 60 98 60 35 40 40 - 3~16 0.94
PSC63 x PNER25 - 100 138 100 75 40 40 M16x2.0P 3~16 1.28
PSC63 x PNER25 - 130 168 130 105 40 40 M16x2.0P 3~16 1.53
PSC63 x PNER25 - 160 198 160 135 40 40 M16x2.0P 3~16 1.79
PSC63 x PNER32 - 60 98 60 35 50 50 - 3~20 1.00
PSC63 x PNER32 - 100 138 100 75 50 50 M16x2.0P 3~20 1.55
PSC63 x PNER32 - 130 168 130 105 50 50 M16x2.0P 3~20 1.97
PSC63 x PNER40 - 60 98 60 38 63 63 - 6~26 1.18
PSC63 x PNER40 - 100 138 100 68 63 63 M20x2.0P 6~26 2.03
PSC80 x PNER32 - 100 148 100 65 50 50 M16x2.0P 3~20 2.38
PSC80 x PNER40 - 100 148 100 69 63 63 M20x2.0P 6~26 273

« £E E A7 Unit of Length (mm)

(> THAIN B557

HEAOWAY




(> | PSC/MLD H = % 5% # bR 38 58

26623-1

CHAIN PSC/MLD MULTI-LOCK COLLET CHUCK
®-
()
R

| 458 Feature

- AFLIRBEBRRET - BLEPRZRIFTIBIRTIBE - Bl
ZNEnpEomE - AEAR/RRESE - B8 FERNEZ

=

-JJRAEERE - AEERSRIRETT] - T‘ﬁ}ﬁfﬁﬂiﬁiﬁ
ERRET ,&Eﬂf*éi‘mﬁﬂﬁzﬁﬂaﬁd RERFENEE
-BIRER )R I ESHE R - BANFSRE - RSEIMITERE
AR EE

- fR#EERBE :0.001~0.005 LA - EEIE :0.02mm
-MLD20 - MLD-3/4 ~ MLK20 #RF+H

-MLD32 - MLD-1-1/4 - MLK32 #RF+HHA

- There is a special design for the slots of internal hole. It prevents
the cutting tools from slipping and increases the clamping power.

- The body of the tool holder is thick, so it has good clamping power.
It adopts the needle bearing design to prevent the slipping. The
operation is convenient and easy.

- After locking the cutting tool (The tolerance of the cutting tool must
be less than hé), it is more contacted with the flange while locking
the clamping nut and tool holder. It can prevent the bearing cage
from deformation easily. Also, rigidity and dust-proof function is
improved.

- Run-out: Within 0.001~0.005mm.Concentricity: 0.02mm.

- MLD20 and MLD-3/4 - MLK20 spanner can be used in common.

- MLD32 and MLD-1-1/4 - MLK32 spanner can be used in common.

B=
<

S%EZE l1 d1 d2 (KGS)

pec. Weight

PSC50xMLD20-75 75 20 56.5 1.20
PSC50xMLD32-90 90 32 71 1.90
PSC63xMLD20-75 75 20 56.5 1.40
PSC63xMLD32-85 85 32 71 2.20

X ZEHFRAE - BEE S E INCH size made to order.

| 2% Option

fE3& Collet

%3 Spanner

B631 B653

B558 &> CHAIN

cREE

i Unit of Length (mm)




(> I PSC/FMA EmE 8% T4

CHAIN B PSC/FMA FACE MILL ARBOR

HEAOWAY

g’i’:’i d2 D K1 K2 (KC?;)

Weight
PSC50xFMA25.4-40 40 17.449 254 31.496 55.626 4775 9.525 -
PSC63xFMA25.4-50 50 17.449 254 31.496 55.626 4775 9.525 -
PSC63xFMA31.75-50 50 17.449 31.75 40.995 69.85 6.35 12.7 -
PSC63xFMA38.1-50 50 23.825 38.1 44.5 96.774 8.864 15.875 -

(> | PSC/FMB F @ #; T 1/

cHAIN | PSC/FMB FACE MILL ARBOR

HEA

=]
(KGS)
Weight

PSC32xFMB16-30 30 16 34 16 235 4 8 0.30
PSC40xFMB16-32 32 16 34 16 235 4 8 0.30
PSC40xFMB16-55 55 16 34 16 235 4 8 0.40
PSC40xFMB22-25 25 22 50 22 26 4.8 10 0.40
PSC40xFMB22-55 55 22 50 22 26 4.8 10 0.70
PSC50xFMB16-35 35 16 34 16 235 4 8 0.60
PSC50xFMB16-70 70 16 34 16 235 4 8 0.70
PSC50xFMB22-25 25 16 50 22 26 4.8 10 0.60
PSC50xFMB22-70 70 16 50 22 26 4.8 10 1.00
PSC50xFMB27-25 25 18 50 27 315 5.8 12 0.70
PSC50xFMB32-40 40 22 63 32 41 6.8 14 1.20
PSC63xFMB16-40 40 16 34 16 235 4 8 0.90
PSC63xFMB22-40 40 16 50 22 26 4.8 10 0.90
PSC63xFMB27-30 30 18 50 27 315 5.8 12 1.00
PSC63xFMB32-45 45 22 63 32 41 6.8 14 1.60
PSC63xFMB40-45 45 25 80 40 48 8.3 16 1.60

« £E E A7 Unit of Length (mm)

(G- THAIN B559

HEAOWAY




(> | PSC/SLN I E = 31 8% 1 4R

CHAIN B PSC/SLN SIDE LOCK END MILL HOLDER 26623-1

HEAOWAY

.sz

éﬁiﬁ l4 Is d1 d2 T (%G%;)
Weight

PSC32xSLN6-45 45 18 - 35 27.5 6 25 Mé 0.30
PSC32xSLN8-45 45 18 - 35 29 8 28 M8 0.30
PSC32xSLN10-50 50 20 - 39 27.5 10 35 M10 0.40
PSC32xSLN12-55 55 225 - 44 36 12 42 M12 0.30
PSC40xSLN6-50 50 18 - 35 255 6 25 Mé 0.40
PSC40xSLN8-50 50 18 - 35 26 8 28 M8 0.40
PSC40xSLN10-50 50 20 - 39 27.5 10 35 M10 0.50
PSC40xSLN12-55 55 22.5 - 44 36 12 42 M12 0.60
PSC40xSLN14-50 50 225 - 44 37 14 44 M12 0.60
PSC40xSLN16-55 55 24 - 47 39 16 48 M14 0.70
PSC50xSLN6-50 50 18 - 35 25.5 6 25 Mé 0.60
PSC50xSLN8-50 50 18 - 35 26 8 28 M8 0.70
PSC50xSLN10-55 55 20 - 39 27.5 10 35 M10 0.70
PSC50xSLN12 -60 60 225 - 44 36 12 42 M12 0.90
PSC50xSLN14-60 60 225 - 44 37 14 44 M12 0.80
PSC50xSLN16-60 60 24 - 47 39 16 48 M14 1.00
PSC50xSLN18-60 60 24 - 47 - 18 50 M14 1.00
PSC50xSLN20-60 60 25 - 49 40 20 52 M16 1.00
PSC50xSLN25-80 80 24 25 54 60 25 65 M18 1.80
PSC63xSLN6-55 55 18 - 35 25 6 25 Mé 0.90
PSC63xSLN8-55 55 18 - 35 26 8 28 M8 0.90
PSC63xSLN10-60 60 20 - 39 30 10 35 M10 1.00
PSC63xSLN12-60 60 225 - 44 33 12 42 M12 1.10
PSC63xSLN14-60 60 225 - 44 335 14 44 M12 1.10
PSC63xSLN16-65 65 24 - 47 35.5 16 48 M14 1.20
PSC63xSLN18-65 65 24 - 47 39 18 50 M14 1.20
PSC63xSLN20-65 65 25 - 49 37.5 20 52 M16 1.50
PSC63xSLN25-80 80 24 25 54 58 25 65 M18 1.90
PSC63xSLN32-90 90 24 28 58 68 32 72 M20 2.40
PSC63xSLN40-100 100 30 32 68 77 40 90 M20 3.70
| &% Option

#H 7] Lock Device

B655 « REE I Unit of Length (mm)

B560 €& CHAIN

HEAOWAY




(> ISBT/PSC#EEMEBERER

CHAIN B SBT/PSC DUAL DRIVE ADAPTER 26623-1

HEAOWAY

R

PSC NO.

ch

58 (KGS)

Weight
SBT40xPSC32-30 30 32 M12x1.5P T10-200 1.70
SBT40xPSC40-30 30 40 M14x1.5P T12-200 1.70
SBT40xPSC50-30 30 50 M16x1.5P T10-200 1.70
SBT40xPSC63-75 75 63 M20x2.0P T12-200 1.90
SBT50xPSC32-40 40 32 M12x1.5P T10-200 4.80
SBT50xPSC40-40 40 40 M14x1.5P T12-200 4.80
SBT50xPSC50-40 40 50 M16x1.5P T10-200 4.80
SBT50xPSC63-100 100 63 M20x2.0P T12-200 4.68
SBT50xPSC63-150 150 63 M20x2.0P T12-200 5.75
SBT50xPSC63-200 200 63 M20x2.0P - 6.81
SBT50xPSC63-250 250 63 M20x2.0P - 7.88
SBT50xPSC63-300 300 63 M20x2.0P - 8.73
SBT50xPSC80-70 70 80 M20x2.0P - 391
SBT50xPSC80-93 93 80 M20x2.0P - 473
SBT50xPSC80-120 120 80 M20x2.0P - 571
SBT50xPSC80-183 183 80 M20x2.0P - 7.98
SBT50xPSC80-243 243 80 M20x2.0P - 10.14

(> | DAT/PSC EfF

CHAIN DAT/PSC ADAPTER

HEAOWAY

& T £ (KGS)

Spec. Weight
DAT40xPSC32-30 30 32 M12x1.5P 1.40
DAT40xPSC40-40 40 40 M14x1.5P 1.50
DAT40xPSC50-50 50 50 M16x1.5P 1.60
DAT40xPSC63-90 90 63 M20x2.0P 2.00
DAT50xPSC32-30 30 32 M12x1.5P 4.20
DAT50xPSC40-30 30 40 M14x1.5P 4.30
DAT50xPSC50-30 30 50 M16x1.5P 4.40
DAT50xPSC63-30 30 63 M20x2.0P 4.50
DAT50xPSC63-100 100 63 M20x2.0P 5.00
DAT50xPSC63-150 150 63 M20x2.0P 5.20
DAT50xPSC63-200 200 63 M20x2.0P 5.40
DAT50xPSC63-250 250 63 M20x2.0P 5.80
DAT50xPSC63-300 300 63 M20x2.0P 6.00

« £E E A7 Unit of Length (mm)

(- THAIN B561

HEAOWAY




(g |HSK/PSC £

CHAIN B HSK/PSC ADAPTER 26623-1

HEAOWAY
(7D
PSC NO. ‘«‘

wFE—) E8 (KGS)

Wrench Weight
HSK63AXPSC32-75 75 32 M12x1.5P T6-200 0.92
HSK63AXPSC40-80 80 40 M14x1.5P T6-200 1.06
HSK63AXPSC50-90 90 50 M16x1.5P T6-200 1.39
HSK100AXPSC32-80 80 32 M12x1.5P T10-200 225
HSK100AXPSC40-90 90 40 M14x1.5P T10-200 243
HSK100AxPSC50-100 100 50 M16x1.5P T6-200 2.80
HSK100AXPSC63-110 110 63 M20x2.0P T10-200 3.41
HSK100AXPSC63-150 150 63 M20x2.0P T10-200 4.18
HSK100AXPSC63-200 200 63 M20x2.0P T10-200 5.14
HSK100AXPSC63-250 250 63 M20x2.0P - 6.10
HSK100AXPSC63-300 300 63 M20x2.0P - 7.07
HSK100AXPSC80-120 120 80 M20x2.0P - 4.93

> |PSCERER

CHAIN i PSC EXTENSION ADAPTER FOR DIFFERENT DIA.

HEAOWAY

o1

PSC NO.

& N d T S (KGS)

Spec. Weight
PSC40xPSC32-55 PSC32 79 55 32 M12x1.5P 0.50
PSC40xPSC32-70 PSC32 94 70 32 M12x1.5P 0.60
PSC50xPSC32-60 PSC32 84 60 32 M12x1.5P 0.60
PSC50xPSC40-65 PSC40 89 65 40 M14x1.5P 0.80
PSC50xPSC40-85 PSC40 115 85 40 M14x1.5P 1.10
PSC63xPSC32-70 PSC32 108 70 32 M12x1.5P 1.10
PSC63xPSC40-80 PSC40 118 80 40 M14x1.5P 1.20
PSC63xPSC50-80 PSC50 118 80 50 M16x1.5P 1.50
PSC63xPSC50-110 PSC50 148 110 50 M16x1.5P 2.20
PSC80xPSC32-60 PSC32 108 60 32 M12x1.5P 1.70
PSC80xPSC40-70 PSC40 118 70 40 M14x1.5P 1.90
PSC80xPSC50-45 PSC50 93 45 50 M16x1.5P 1.50
PSC80xPSC50-80 PSC50 128 80 50 M16x1.5P 2.20
PSC80xPSC63-55 PSCé63 103 55 63 M20x2.0P 2.30
PSC80xPSC63-80 PSCé63 128 80 63 M20x2.0P 2.50
PSC80xPSC63-120 PSC63 168 120 63 M20x2.0P 4.00

« £ EAI Unit of Length (mm)

B562 &> FHAIN




e |PSCEEER

CHAIN PSC ADAPTER FOR SAME DIA. 2662:;1
PSC NO. @‘
et
1 d:b J ch
l1
L
giza.z PSC NO. L I ds T E\%e(igﬁs)
PSC32xPSC32-60 PSC32 79 60 32 M12x1.5P 0.40
PSC32xPSC32-80 PSC32 99 80 32 M12x1.5P 0.50
PSC40xPSC40-60 PSC40 84 60 40 M14x1.5P 0.50
PSC40xPSC40-80 PSC40 104 80 40 M14x1.5P 0.70
PSC50xPSC50-80 PSC50 110 80 50 M16x1.5P 110
PSC50xPSC50-100 PSC50 130 100 50 M16x1.5P 140
PSC63xPSC63-80 PSC63 118 80 63 M20x2.0P 2,00
PSC63xPSC63-100 PSC63 138 100 63 M20x2.0P 2.20
PSC63xPSC63-140 PSC63 178 140 63 M20x2.0P 318
PSC63xPSC63-200 PSC63 238 200 63 M20x2.0P 47
PSC63xPSC63-300 PSC63 338 300 63 M20x2.0P 6.88
PSC80xPSC80-65 PSC80 113 65 80 M20x2.0P 3.10
PSC80xPSC80-100 PSC80 148 100 80 M20x2.0P 3.60
PSC8O0xPSC80-125 PSC80 173 125 80 M20x2.0P 4.60

(2> | PSC/PCK TIHA= & T 7,58 ( —BEst)

CHAIN B PSC/PCK ADJUSTABLE DOUBLE-EDGE BORING HEAD

HEAOWAY

d

A

oD #EF. &5 & Boring Range TR B2 (KGS)
Min. Max. Insert Weight
PSC32 x PCK3950-80 39 50 99 80 32 CC..09T3 0.49
PSC40 x PCK4965-82 49 65 106 82 42 CC..1204 0.49
PSC50 x PCK6382-92 63 82 122 92 54 CC..1204 0.70
PSC63 x PCK80102-140 80 102 178 140 68 CC..1204 3.60

| B2 ¢ % Accessories

7R
Insert : 0
Wrench
CC..09T3 M4-10-5.7-60 T15 3.0
CC..1204 M5-11-7.5-60 T20 5.0

« £E E A7 Unit of Length (mm)

(G- THAIN B543

HEAOWAY




(> | PSC/PMB iBH K IEHERE (—Bazt )

CHAIN B PSC/PMB SUBMICRON FINISH BORING HEAD 26623-1

HEAOWAY

R

il

oD #7461 Boring Range( IE##) oD #7858 Boring Range( 21 ) TR Tk IR %% fgig)
. . Insert Seat Insert Mﬂ@ X

Min. Max. L I1 I Min. Max. |2 I d1 Screw Weight

32 | 42 -1 - - -1 - [siB32-1/sIc3z-1 021

PSC32xPMB32-85 | 41 | 51 |104| 85 | 69 | 46 | 51 SIB32-2/51C32-2 | 1806011 s 500760 | 021
55 25 16 TP.0802

50 | 60 50 | 60 SIB32-3/SIC32-3 021

a1 | 54 ST - [ - [ - [ - [sBat-wsicart 0.40

PSC40xPMB41-102 | 50 | 63 |126|102| 81 | 53 | 63 SIB41-2/5IC41-2 | 1P-0902 0.40
70 29 20 TC..1102

61 | 74 61 | 74 SIB41-3/SIC41-3 0.40

53 | 70 62 | 70 SIB53-1/51C53-1 110

PSC50xPMB53-112 | 65 | 82 |142|112| 915 | 65 | 82 | 74 | 34 | 255 [siB53-2/51C53-2 ICP"?Z’%% M2.5-6.0-3.5-60 | 1.10

78 | 95 78 | 95 SIB53-3/SIC53-3 | 1.10

68 | 100 80 | 100 SIB68-1/S1C68-1 174

PSC63xPMB68-140 | 94 | 126 | 178|140 |117.5| 94 | 126 | 90.8 | 45.2 | 32.5 [ SIB68-2/51C68-2 Ig"gigg 174

118 | 150 118 | 150 SIB68-3/51C68-3 | 174

% A& SIB/SIC JIE Ee - J1R EEE R SMES Not including SIB/SIC insert seat, insert seat need purchase separately.

> |PSC/PB) EREZIEAE (—BRX)

EI-IAIN PSC/PBJ BORING HEAD

HEAOWA

PSC40xPBJ10-48.5 725 48.5 28.5 39 10 0.49
PSC50xPBJ12-56 86 56 36 50 12 0.91
PSC63xPBJ16-67 105 67 45 63.5 16 1.76

« £ EAI Unit of Length (mm)

B564 &> CHAIN




(> | PSC a5

CHAIN PSC TEST BAR 26623-1
r~y
]
b g[bum
0.8um
N

ds

= | =

R

Spec.
PSC32-TS180L-P 180 165 32 20 041 041
PSC40-TS180L-P 180 160 40 32 1.08 1.08
PSC50-TS180L-P 180 150 63 32 1.38 1.38
PSC50-TS245L-P 245 215 63 32 1.7 1.70
PSC50-TS280L-P 280 250 63 40 2.12 2.12
PSC63-TS182L-P 182 150 75 40 1.93 1.93
PSC63-TS232L-P 232 200 75 40 4.02 4.02
PSC63-TS352L-P 352 320 75 40 2.93 2.93

(- | PSC =+

CHAIN PSC BLANK

HEAOWAY

di

e

o ) o KGS)

Weight

PSC32x@32-90 90 - 32 32 0.53
PSC32x@60-90 90 75 60 32 1.65
PSC40x@40-120 120 - 40 40 1.30
PSC40x@80-120 120 100 80 40 4.12
PSC50x@50-150 150 - 50 50 2.38
PSC50x@95-150 150 130 95 50 7.60
PSC63x@63-180 180 - 63 63 4.56
PSC63x@120-180 180 158 120 63 14.5
PSC80 x@80 - 200 200 - 80 80 8.30
PSC80x@145 - 200 200 170 145 80 233

« £E E A7 Unit of Length (mm)

€G- THAIN B565

HEAOWAY




(> I BT/SAM /)8 e 85 Bl 58 oy

cHAIN [l BT/SAM ANGLE HEAD HOLDER FOR LIGHT CUTTING PATNO.M3150976  PATNO: N20 2009001 6234
IR

° Hkmn
]

s
.

53.4

337

30.5

Fig.2
| 4% Feature
- @ADL B WSF - Applicable for drilling, tapping.
- BEUHIRE <2mm (BEE - SRABMIEEEE) - Suggested Ap < 2mm.
- Bx = 935k : 4000rpm - Max. revolution : 4000 rpm.
- & AHIE : 20N-m - Max. torque : 20N-m.
- DEhEEL  EEEEE - Mandrel rotation direction: same as machine spindle.
- O ATC BENIR T R4 - Can be used for ATC.
wm T m oy
Torque Weight
BT40 x SAM16EX-120 120 87 65 ?1~010 20N-m ER16 2 6.40
BT40 x SAM20EX-120 120 87 65 ?1~@13 20 N-m ER20 2 6.40
BT40 x SAM25EX-120 120 87 65 B1~B16 20 N-m ER25 2 6.40
BT40 x SAM32EX-120 120 82 65 ©2~020 20N-m ER32 2 6.44
BT50 x SAM16EX-135 135 87 80 ?1~010 20N-m ER16 2 6.40
BT50 x SAM20EX-135 135 87 80 ?1~013 20 N-m ER20 2 6.40
> BT50 x SAM25EX-135 135 87 80 D1~016 20N-m ER25 2 6.40
é ,% BT50 x SAM32EX-135 135 82 80 @2~020 20N-m ER32 2 6.44
E é BT40 x SAM16E-120 120 87 65 ?1~010 20N-m ER16 1 6.40
= BT40 x SAM20E-120 120 87 65 ?1~213 20N-m ER20 1 6.40
BT40 x SAM25E-120 120 87 65 ?1~016 20 N-m ER25 1 6.40
BT40 x SAM32E-120 120 82 65 @2~020 20 N-m ER32 1 6.44
BT50 x SAM16E-135 135 87 80 ?1~010 20N-m ER16 1 6.40
BT50 x SAM20E-135 135 87 80 ?1~013 20 N-m ER20 1 6.40
BT50 x SAM25E-135 135 87 80 D1~016 20N-m ER25 1 6.40
BT50 x SAM32E-135 135 82 80 @2~020 20 N-m ER32 1 6.44
X BN SBT €EIERAZ T Welcome to ask SBT DualDRIVE+ type.
| &2 Option
M PUIStud R Collet  $IENut 4R Spanner EAI Fix block
% o @~ & &| |
B646-B647 | B612/B627 | B634/B639 | B650/B653 | B573-B574 o fRE E I Unit of Length (mm)

B566 &> CHAIN

HEAOWAY




o

CHAIN
HEAOWAY

HSK/SAM /i ¥ &% Bl 88

HSK/SAM ANGLE HEAD HOLDER FOR LIGHT CUTTING

lip

| 4% Feature

-@AMT : #H - B -

- BEUHIRE <2mm (ZE#HE - FR{VE[HERE) -
- Ex= 8%k : 4000rpm -

-EAHAE 20N m -

L]
[
e B ]
oo | \ 9
N 71,ar
— |5
—1 s |,
3" -
503 82

- Applicable for drilling, tapping.
- Suggested Ap < 2mm.

- Max. revolution : 4000 rpm.

- Max. torque : 20N-m.

S

- O ER S 7KEE : 7Tkgf/cm2 -
- DEEEL  MEEKE -
- O ATC BENg 144 -
- HEAREEMREREZ TTERAEKAREEPIEEE:!
(1) FOAKTIEHK
(2) A ATKEA KR ER H K
(3) B ENMIHAKITIEH K
(4) 1B BRI HE A KA KGR ER K

- Max. water pressure : 7kgf/cm?*(100PSI).

- Rotating direction opposite to machine spindle.

- Can be used for ATC.

- According to different machine devices, it is equipped with versatile
coolant systems for customer to choose from.
(1)Coolant feed from the center and exhaust from the cutting tool.
(2)Coolant feed from the center and exhaust from the oil ball.
(3)Coolant feed from stop block and exhaust from cutting tool.
(4)Coolant feed from the stop block and exhaust from oil ball.

HAOE B=
(N.m)Torque (KGS)Weight

HSK63A x SAM16E - 145 145 87 65 ?1~@10 20 N-m 6.40
HSK63A x SAM20E - 145 145 87 65 ?1~013 20 N-m 6.40
HSK63A x SAM25E - 145 145 87 65 D1~D16 20 N-m 6.40
HSK63A x SAM32E - 145 145 82 65 @2~@20 20 N-m 6.44 -
HSK63A x SAM16EX - 145 145 87 65 ?1~210 20 N-m 6.40 5 b=: ]
HSK63A x SAM20EX - 145 145 87 65 ?1~013 20 N-m 6.40 E %
HSK63A x SAM25EX - 145 145 87 65 D1~016 20 N-m 6.40 :5
HSK63A x SAM32EX - 145 145 82 65 @2~@20 20 N-m 6.44

| &2 Option

1188 Pull Stud

% o° @\ & adll

B646-B647 | B612/B627 | B634/B639 | B650/B653 | B573-B574 o f=EE I Unit of Length (mm)

&3 Collet 92108 Nut

#RF Spanner EfiI3E Fix block

e THAIN B567




BT/SAC o §iii x& £% Fll 88

BT/SAC ANGLE HEAD HOLDER FOR MEDIUM CUTTING

&
LA

o1

[

r—i”' y r&—w"' ]
K - L B :
— = > o8 e i" 2 =281
RIS TR
- %@7 = M 8
53.8 I | |-53.8 It
Fig.1 Fig.2

| 4% Feature

-@BAMNL : #EA - BT -~ #iH

- BRUHIRE <3mm (E#E - BREBHMHER) -
- Bx= 8358 : 3000rpm -

-EAHAE 25N m -

- DEhEEE  BFERE -

- Applicable for drilling, tapping, and milling.
- Suggested Ap < 3mm.

- Max. revolution : 3000 rpm.

- Max. torque : 25N-m.

- Rotating direction opposite to machine spindle.
- Can be used for ATC.

- IR ATC BB R4 -

HBAE

(N.m)
Torque

BT40 x SAC16E-130 130 89.6 65 ?21~010 25N-m ER16 1 6.40
BT40 x SAC20E-130 130 91 65 ?21~013 25N-m ER20 1 6.40
BT40 x SAC25E-130 130 92 65 21~016 25N-m ER25 1 6.40
BT40 x SAC32E-130 130 96 65 ?3~016 25N-m ER32 1 6.44
BT50 x SAC16E-147 147 89.6 80 ?21~010 25N-m ER16 1 8.40
BT50 x SAC20E-147 147 91 80 ?1~@13 25N-m ER20 1 8.40
BT50 x SAC25E-147 147 92 80 21~316 25N-m ER25 1 8.40
% v BT50 x SAC32E-147 147 96 80 ?3~@16 25N-m ER32 1 8.44
g % BT40 x SAC25.4FA-130 130 66 65 254 25N-m - 2 6.54
o BT40 x SAC22FB-130 130 66 65 22 25N-m - 2 6.54
BT50 x SAC25.4FA-147 147 66 80 254 25N-m - 2 8.54
BT50 x SAC22FB-147 147 66 80 22 25N-m - 2 8.54

| &2 Option

#1188 Pull Stud 3R Collet 8218 Nut #R3F Spanner  ZEIHE Fix block
% ‘ e
B646-B647 | B612/B627 | B634/B639 | B650/B653 | B573-B574 o f=E B Unit of Length (mm)

B568 &>

CHAIN

HEAOWAY




(7> I HSK/SAC o i 1 £ Il 58

CHAIN B HSK/SAC ANGLE HEAD HOLDER FOR MEDIUM CUTTING

HEAOWAY

L] -
8
© aa:l—l_m:’—j

i
0, [

| |
LT - om O LT ——om
gt ) &@g gl - :E_Th gt 3 = :ﬂ f ;L
535 h i : 53.8 h \ 8 |.538 _| I i -
Fig.1 Fig.2 Fig.3

| 4525 Feature
- A - WS - #HH - Applicable for drilling, tapping, and milling.
- &2 : 3000rpm - Max. revolution: 3000 rpm.
- BESEAUIR <4mm - Suggest Ap<4mm

HSK 63A x SAC16E - 155 155 89.6 65 1~10 ER16 25N-m 1 6.40
HSK 63A x SAC20E - 155 155 91 65 1-13 ER20 25N-m 1 6.40

HSK 63A x SAC25E - 155 155 92 65 1-16 ER25 25N-m 1 6.40

HSK 63A x SAC32E - 155 155 96 65 3-16 ER32 25N-m 1 6.40

HSK 100A x SAC16E - 151 151 89.6 80 1~10 ER16 25N-m 1 8.40

HSK 100A x SAC20E - 151 151 91 80 1-13 ER20 25N-m 1 8.40

HSK 100A x SAC25E - 151 151 92 80 1-16 ER25 25N-m 1 8.40

HSK 100A x SAC32E - 151 151 96 80 3-16 ER32 25N-m 1 8.44

HSK 63A x SAC25.4FA - 155 155 66 65 25.4 - 25N-m 2 6.54 =
HSK 63A x SAC22FB - 155 155 66 65 22 - 25N-m 2 6.54 é %
HSK 100Ax SAC25.4FA-151 | 151 66 80 254 - 25N-m 2 8.54 § R
HSK 100A x SAC22FB - 151 151 66 80 22 - 25N-m 2 8.54

HSK 63A x SAC225C - 155 155 675 65 22 - 25N-m 3 8.40

HSK 63A x SAC25.45C - 155 155 675 65 25.4 - 25N-m 3 8.40

HSK 100A x SAC225C - 151 151 67.5 80 22 - 25N-m 3 8.40

HSK 100A x SAC25.45C-151 | 151 675 80 254 - 25N-m 3 8.40

| &% Option

HI88 PullStud &R Collet Y2108 Nut #R3F Spanner  ZEfiI#E Fix block

% ¢ @b ~\Y & | |

B646-B647 | B612/B627 | B634/B639 | B650/B653 | B573-B574 « £E E A7 Unit of Length (mm)

e THAIN B569




(> I BT/SAR X #f ¥ & &l 58

cHAIN [l BT/SAR ANGLE HEAD HOLDER FOR HEAVY-DUTY CUTTING

o5 _— BHMA2009 G

.
- KWHK ‘. //?%7

TAIWAN EXCELLENCE

)
=

45 | 45

TN
Fig.2 2 k ‘ Y /
N el
| 48 Feature ‘
-ERMT B - W #hE - - Applicable for drilling, tapping, and milling.
- BEUBEIRE <4mm (ERE - TEIBHMEREZE) - - Suggested Ap < 4mm.
- Ex= 84K : 3000rpm -« - Max. revolution : 3000 rpm.
- & AHIME 50N-m ° - Max. torque : 50N-m.
- O My &= 7K B : 7kgf/cm2 - - Mandrel rotation direction: same as machine spindle
- LEhEEE) - B B[S - - Mandrel rotation direction: same as machine spindle, “an be
- BARU - BEFIR IR ATC BEIRTI &4 - used for ATC.
- HKAE ;I E IR A KA ACHER K -Coolant feed from the stop block and exhaust from oil ball.
& (N.m) . EE (KGS)
Torque : Weight
BT50xSAR50/SBT30-230 230 80 50N-m 1 16.1
BT50xSAR50/SBT30-230S 230 110 50N-m 1 16.1
BT50xSAR50/FMA25.4-230 230 80 50N-m 2 16.1
BT50xSAR50/FMA25.4-230S 230 110 50N-m 2 16.1

(> IBT/SAU B sEHI5E

CHAIN BT/SAU ANGLE HEAD HOLDER(UNIVERSAL TYPE)

HEAOWAY

STt

>
z
4]
[
m
ac
m
>
o

o h o
@125

| 425 Feature

- Bt A 11 -Gear ratio 1:1.

- Bx =835k : 3000rpm -Max. revolution: 3000rpm.

- BRI 40N.m -Max. torque: 40 N-m.

- BEUR < 4mm -Suggested Ap <4mm.

- TEABEOFAE 0 ~90° -Adjustable spindle angle from 0° to 90° on inclined surfaces.
- BEFAEMEE 1 -Adjustable angle increment: 1°

RIS HAE (N.m) BN EE (KGS)

Clamping Range Torque Collet Weight
BT50 x SAU32E-328 328 200 110 2~20 40 N-m ER32 20.9

#I58 PullStud  f&3& Collet 9208 Nut %3 Spanner  TEiI#E Fix block

% | | |
B646-B647 | B612/B627 | B634/B639 | B650/B653 | B573-B574 « £ EAI Unit of Length (mm)

B570 &> CHAIN

HEAOWAY




e
FEATWAY

BT/SAM /)\§ii %8 &% Kl 88 1 T & 61

BT/SAM ANGLE HEAD HOLDER CUTTING ILLUSTRATION

BT40xSAM32EX-120

T ###Workpiece material: S45C(Steels)
J1EBTool: @125 & 5E

(@12 High Speed Steels Drills)

tIHIEE (Vc): 31m/min

E43%(S): 1000rpm

4 (VF): 100mm/min

IHIRE (Ap): 20mm

BT40xSAM32EX-120
T Workpiece material: S45C(Steels)
J1ETool: @125 #118%7]

(@12 End mills)

tHIEE (Vc): 18.8m/min

E83%(S): 500rpm

LA (VF): 150mm/min

IHIRE (Ap): 4mm

#2 fL
Drilling

212

AT

Workpiece

5 Bl
Milling

A
S
AT 4
Workpiece

[N
=

BRAIEIRT] Max. Torque:20N.m

BT40xSAM32EX-120

T ##tlWorkpiece material: S45C(Steels)

7]ETool: M12x1.75P#
(M12x1.75P Tap)
tNHIEEE (Vc): 7.53m/min
#83%(S): 200rpm

L (VF): 350mm/min

IHIRE (Ap): 20mm

20
_,|_‘__
g
L
AT
Workpiece

BT40xSAM25.4SCAX-120
T Workpiece material: S45C(Steels)
7]EBTool: SDC-100X08A25.4

tEIEE (Vc): 120m/min

E3%(S): 380rpm

LA (VF): 90mm/min

TNHIRE (Ap): 6mm

HNHIRE (Ae): 83mm

Milling

IL#&

Workpiece

o f=EE I Unit of Length (mm)

e THAIN B571

Sl et R

>
r4
Q
2
m
AE
m
>
o




(> I BT/SAC&BT/SAR fl1 Tl

CHAIN B BT/SAC&BT/SAR ANGLE HEAD HOLDER CUTTING ILLUSTRATION

HEAOWAY

AR 7]

Max. Torque
25N.m

8 1,
Drilling

W5
Tapping

% il
Milling

BT50xSAC32E-147

Tt ##Workpiece material: S45C(Steels)
718 Tool: @167 & il #58

(@16 High Speed Steels Drills)
tIHIE E (Vc): 30.14m/min

#3%(S): 600rpm

ELR(VF): 96mm/min

HIHIZRE (Ap): 40mm

BT50xSAC32E-147

T ¥ Workpiece material: S45C(Steels)
J1ETool: M16x2.0P# X

(M16x2.0P Tap)

B E (Vc): 10.05m/min

E3%(S): 200rpm

LR (VF): 400mm/min

HIHIZRE (Ap): 20mm

BT50xSAC25.4FA-147

T ###Workpiece material: S45C(Steels)
J]ETool: @50 7]

(@50 Face mill)

HHIEE (Vc): 65.94m/min

B3%(S): 500rpm

LA (VF): 150mm/min

IEIRE (Ap): 2mm

tHIE E (Ae): 42mm

4

0

-

mIt

Workpiece

216

20

1

C T

mIt

Workpiece

M16

—
42

MLt

Workpiece

=ATHIE A
Max. Torque
30N.m

STt

>
z
4]
2
m
ac
m
>
o

#EF : BEFISR IR

Applicable: gantry
milling machine

B572 {E&>CHAIN

HEAOWAY

S45C

8 1L,
Drilling

W5
Tapping

% Hl
Milling

BT50xSAR50/SBT30-230
BT30-ER32-50

T ###Workpiece material: S45C(Steels)
T1ETool: @167 % 4 TE

(@16 High speed steels drills)

tIHIEE (Vc): 31m/min

#3%(S): 1000rpm

LG (VF): 100mm/min

HIHIZRE (Ap): 40mm

BT50xSAR50/SBT30-230
BT30-ER32-50

T ###Workpiece material: S45C(Steels)
J]BTool: M16x2.0P# I

(M16x2.0P Tap)

KU E (Vc): 10.05m/min

B3 (S): 200rpm

&L (VF): 400mm/min

TIHIRE (Ap): 40mm

BT50xSAR50/SBT30-230
BT30-FMA25.4-45

T ###Workpiece material: S45C(Steels)
J]EBTool: @80mE 7]

(@80 Face mill)

HH3E E (Vc): 80.38m/min

BH3(S): 400rpm

48 (VF): 360mm/min

TIHIRE (Ap): 3mm

tIHIE E (Ae): 64mm

40

216

|

MLt

Workpiece

40

.
L

MLt

Workpiece

64

MLt

Workpiece

« £ EAI Unit of Length (mm)



(E> | SFT EfIR (SEEMH )

CHAIN B SFT FIXED BLOCK (TAPPER PIN)

HEAOWAY
®-
*R
OIL INJECTION HOLE
. A
Taper Type =N\ 7=V 1<
< o)} - -
G
D_f 10|s| 4
l—
82
20°
A
STty \——( w
Taper Pin [ [ . [ | ._4 v
| 4525 Feature ;
- EURERESEUHEEEE - Applicate for oil hole holder and angle head holder.
-EBE SFBHEMRAZEYM  ERTBETINLA#S FRIE2F - SFB-1 Fixed block is blank, and customers can process the fixed block
- EMRTMSEE T - BEETERS L A REBERATCE - bythemselves tofit the machines.

B ARRATIR - B R REERESIEI e e e at ont .
%E\f it must be fastened on the machines, so that it won't interfere with
/

. . — . N the ATC, before installation, it's necessary to consult the machine
REHRERIR - FEZAFFMRMIERERE R - ERRE manufacturers about the correct installation methods.

A068 - Special type is accepted. Before making a purchase order, please
informed detailed dimensions by filling out the form in AO68

BRARE

Suitable Type

#40 AR (SEEH )
#40 Fixed block (tapper pin)

#50 EMULR (HEH )
#50 Fixed block (tapper pin)

- EEFEREEHINT - BB Used for milling,drilling and tapping.

> ISFT ERIREM (EEWH)

CHAIN B SFT FIXED BLOCK BLANK (TAPPER PIN)

HEAOWAY

SFT-40 40 18.5 10 5 30 13 NPT1/4-18 0.30

SFT-50 34 19 11 7 35 15 NPT1/4-18 0.32

>
®- &

o}

m

2 Ss@i T
>
o

Sl et R

‘ 42
20

T E T
Weight
SFT-19L 10 19 -
SFT-22L 12 22
SFT-25L 14 25
B8 i Unit of Length (mm)

e THAIN B573




ol B0

PAT.NO:M417219

CHAIN FIXED BLOCK(COMBINATION TYPE) PAT.NO : ZL201120289100.2

HEAOWAY

SFO-A 29 11 39 14 15.2 0.08

[_é n‘H _t = ﬁi tE PATNO : M417219

CHAIN FIXED BLOCK(COMBINATION TYPE) PAT.NO : ZL201120289100.2
Fig.1 F B Fig.3 T
i
g -
=
Fig.2 % %
\IT« B
L % =

| 4525 Feature

- /Eﬂiifﬁju ST BEEEEMS - T ARSYHIR ATC#8J] - The fixed block can be installed on the spindle but it has to be a fixed
CBEESEEEASTE - Bt - SEEEEA RS s s EES Y installation so that it will not interfere with the ATC (Automatic Tool
EM%%@%E% Changer). It is important to consult your machine manufacturer first
o ey NI o . before installing.
- EREARASTH At HESMHBRN - EER } . ) . .
;;:ﬁ*;ﬁﬁ T - TRZAER AR RRERR Y RRE - Special order is accepted but fill out the dimension form on A068
first before ordering.

SFO-1-10 37 82 18 10 M4 1 0.20
SFO-1-15 37 82 18 15 M4 1 0.32
SFO-2-10 37 82 18 10 M4 2 0.18
SFO-2-15 37 82 18 15 M4 2 0.28
SFO-3-10 45 82 18 10 M4 3 0.19
SFO-3-15 45 82 18 15 M4 3 0.31
SFO-4-10 45 82 18 10 M4 4 0.19
SFO-4-15 45 82 18 15 M4 4 0.31

R EEAI Unit of Length (mm)

B574 €E&> CHAIN




e |sFBBaEREMRES AR PATNG 417215

CHAIN B SFB ANGLE HEAD FIXED BLOCK MAKER PATNO : ZL201120289100.2

0000
0000}

SFB-B1-6A 37 82 18.5 6 M4 0.02

| %61 Example

> B
Zm
=]
I I = ;
A = :
SFO-A(_E ) IR 4% SFO-1-10(F &) HET
SFO-A (Upper) Screw SFO-1-10 (Lower) Installation complete

» EREOJRIEMEREE - AESmERE LEUEUE - ERTEMS
The upper angle-head fixed block can be adjusted first before bolting it together to achieve
a perfect fit.

« £E E A7 Unit of Length (mm)

(G- THAIN B575

HEAOWAY




HiE(E

>
z
o
2
m
ac
m
>
o

(o |SFBREBEEMRERA

CHAIN
HEAOWAY

SFB ANGLE HEAD FIXED BLOCK SET

PAT.NO : M417219

SFB-10P-SET

EAIS
Fixed Block

SFO-1-10

SFO-1-15

SFO-2-10

SFO-2-15

SFO-3-10

SFO-3-15

SFO-4-10

SFO-4-15

SFO-A

SFB-B1-6A

6.8mm
9mm

(2 R -15mm EEF )

(2 R -10mm E£FH )

AAY) Contents

Screw

SH-M4-16

SH-M4-12

PL3

B2
(KGS)
Weight

3.28

(& |LM-GG ms

CHAIN

HEAOWAY

LM-GG GREASE GUN

Fig.1

Fig.2

| 4% Feature
- BEAE

| %61 Example

LenmimAa

- Easy to carry.

- Suitable for automobile and mechanical equipments.
- Grease from tubes or drums may be used.

- "B BERESUER
- URARRE R EEREEM

TEEEN b=
(psi) (ml).
Power Capacity
LM-GG-100 4500 100 210x60x35 0.15
LM-GG-500 500 380x130x50 1.28

B576 &> CHAIN

HEAOWAY

« £ EAI Unit of Length (mm)




